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0.08

0.06

alphal3_4eX1X:cyclenum {run == 6357}

0.02

6047 6047.2 6047.4 6047.6 6047.8 6
cyclenum

deltad46_12X4eY:cyclenum {run == 6357}

6047 6047.2 6047.4 6047.6 6047.8 6048

cyclenum

alpha4b_4ey4ay

6359

3358.5
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3357.5

6357

3356.5

6356

3355.5

6355

alpha46_4eY4aY:cyclenum {run == 6357}

P PPN R RPN EPEE R B
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cyclenum

run:cyclenum {run == 6357}

P PPN R RPN RPN IR B
6047 6047.2 6047.4 6047.6 6047.8 6048
cyclenum

segment

25

15

05

deltal3_12X4eX:cyclenum {run == 6357}

6047 6047.2 6047.4 6047.6 6047.8 6048
cyclenum

segment:cyclenum {run == 6357}

6047 6047.2 6047.4 6047.6 6047.8 6048
cyclenum




USI_1A

usi_4ey

=

0.5

usl_1X:cyclenum {run == 6357}

6047 6047.2 6047.4 6047.6 6047.8 6048
cyclenum

usl_4eY:cyclenum {run == 6357}

6047 6047.2 6047.4 6047.6 6047.8 6048

cyclenum

usl_say

usl_12x

usl_4aY:cyclenum {run == 6357}

[

0.5

6047 6047.2 6047.4 6047.6 6047.8 6048
cyclenum

usl_12X:cyclenum {run == 6357}

[

0.5

6047 6047.2 6047.4 6047.6 6047.8 6048

cyclenum
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=
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3357.5
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5356.5

6356

3355.5

usl_4eX:cyclenum {run == 6357}

6047 6047.2 6047.4 6047.6 6047.8 6048
cyclenum

run:cyclenum {run == 6357}

6355

6047 6047.2 6047.4 6047.6 6047.8 6048

cyclenum




USI_L1A

usI_aey

=

0.5

usr_1X:cyclenum {run == 6357}

6047 6047.2 6047.4 6047.6 6047.8 6048
cyclenum

usr_4eY:cyclenum {run == 6357}

6047 6047.2 6047.4 6047.6 6047.8 6048

cyclenum

usr_say

usr_12x

usr_4aY:cyclenum {run == 6357}

[

0.5

6047 6047.2 6047.4 6047.6 6047.8 6048
cyclenum

usr_12X:cyclenum {run == 6357}

[

0.5

6047 6047.2 6047.4 6047.6 6047.8 6048

cyclenum

usr_aex
=

05

6359

3358.5

6358

3357.5

6357

5356.5

6356

3355.5

usr_4eX:cyclenum {run == 6357}

6047 6047.2 6047.4 6047.6 6047.8 6048
cyclenum

run:cyclenum {run == 6357}

6355

6047 6047.2 6047.4 6047.6 6047.8 6048

cyclenum
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31520
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31500
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usl_coill:cyclenum {run == 6357}

S [ -

6047 6047.2 6047.4 6047.6 6047.8 6048

cyclenum

usl_caoil6:cyclenum {run == 6357}

6047 6047.2 6047.4 6047.6 6047.8 6048

cyclenum
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16400

16200

16000
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15600

15400

15200
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14800
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14200

usl_coil3:cyclenum {run == 6357}

P PPN PR I EPEE R

6047 6047.2 6047.4 6047.6 6047.8 6
cyclenum

usl_coil7:cyclenum {run == 6357}
N T T N A
6047 6047.2 6047.4 6047.6 6047.8 6048

cyclenum
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5356.5
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usl_coil4:cyclenum {run == 6357}

6047 6047.2 6047.4 6047.6 6047.8 6
cyclenum

run:cyclenum {run == 6357}

6047 6047.2 6047.4 6047.6 6047.8 6048
cyclenum




usr_coill:cyclenum {run == 6357} usr_coil3:cyclenum {run == 6357} usr_coil4:cyclenum {run == 6357}
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usr_coil6:cyclenum {run == 6357} usr_coil7:cyclenum {run == 6357} run:cyclenum {run == 6357}
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cyclenum cyclenum cyclenum
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1X_coill:cyclenum {run

== 6357}
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cyclenum

4eX_coill:cyclenum {run == 6357}
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cyclenum
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1X_coil3:cyclenum {run

== 6357}

6047
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6048
cyclenum

4eX_coil3:cyclenum {run == 6357}
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L
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cyclenum
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1X_coil7:cyclenum {run == 6357}

6047 6047.2 6047.4 6047.6 6047.8 6048
cyclenum

4eX_coil7:cyclenum {run == 6357}

6047 6047.2 6047.4 6047.6 6047.8 6048
cyclenum
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4aY_coild:cyclenum {run == 6357}
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cyclenum

4eY_coil4d:cyclenum {run == 6357}
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cyclenum
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4aY_coil6:cyclenum {run == 6357}
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cyclenum

4eY_coil6:cyclenum {run == 6357}

6047 6047.2 6047.4 6047.6 6047.8 6048

cyclenum
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4aY_coil7:cyclenum {run == 6357}
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VS N NS NS N
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cyclenum

4eY_coil7:cyclenum {run == 6357}
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cyclenum



12X_coill:cyclenum {run == 6357} 12X_coil3:cyclenum {run == 6357} 12X_coil4:cyclenum {run == 6357}
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cyclenum cyclenum cyclenum

12X_coil6:cyclenum {run == 6357} 12X_coil7:cyclenum {run == 6357} run:cyclenum {run == 6357}
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